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1 |E8RETIR 35 1,081 560 51.850
2 | ARUTIREL LG 1,721 935 54.33
3 | AR L 4 — 2699 1,489 55.17
4 |BNIRERGE 2850 1,604 277
5 |4E9T X FE 1,013 H36 5291
6 | KPLiaE s 2611 1,280 5098
7 | Rl EA 1,490 8504 53.96
8 | KN £ RERFE LM 2281 1,140 49.98
9 | RRNIRELLHE 1,631 8756 53.65
10 |[AN2i2=F4t>5— 2203 1,143 51.88
11 |2 @as 65} 57 76.00
12 |BFiRt v & — 138 58 63.77
13 [MEm 2 KA 1,699 843 272
14 % T2 KEE 483 249 51.556
15 | K3 kAT b27 362 685.69
16 |KBFALHE 417 272 65.23
17 |FH LA 183 135 7’377
18 |FNIRELH 235 153 65.11
19 [ewERTAE 94 69 7340
20 | kKB AHE 157 91 57.96
21 |® KiBAHE 85 51 60.00
3t 23473 12636 53.83




